

Total Ceiling Tax (of ceilings applied): \$71,042.26

Total Freeze Taxable: (-) 16,385,614

New Imp/Pers with Ceiling: (+) 4,630

Freeze Adjusted Taxable: (=) 54,744,210This number DOES NOT represent any Jurisdiction's Certified Taxable Value**

Estimated Total Levy: ((Net Taxable Value - Total Freeze Taxable + New Imp/Pers with Ceiling) * Tax Rate / 100) + Total Ceiling Tax or (Freeze Adjusted Taxable * Tax Rate / 100) + Total Ceiling Tax

Count of Homes	teads
----------------	-------

Н S F В D W 0 DV **DV100** SS First Resp SS Svc Member 0 14 0 0 0 0 119 120 25 12 0

Total Parcels*: 656* Parcel count is figured by parcel per ownership

Total Owners: 537
Total Items: 1,083

H - Homestead D - Disabled Only
S - Over 65 W - Widow
F - Disabled Widow O - Over 65 (No HS)
B - Disabled DV - Disabled Veteran

DV100 (1, 2, 3) - 100% Disabled Veteran

4 (4B, 4H, 4S) - Surviving Spouse of a Service Member 5* (5B, 5H, 5S) - Surviving Spouse of a First Responder

Special Certified Totals

Exempt Value of First Time
Absolute Exemption \$0

Exempt Value of First Time

Partial Exemption \$224,250

New AG/Timber Industrial/Utility/Personal Property New Value

Market \$0 Taxable
Taxable \$0

Value Loss \$0

New Improvement/Personal

Market \$849,800 Taxable \$827,160 **Grand Total New Value**

Taxable \$827,160

\$0

Average Values* (includes protested & exempt value)

Market \$206,161 225 Market \$46,386,380 Taxable \$130,699 Taxable \$29,407,334 Average Homestead Value A* and E* Parcels Total Homestead Value A* and E* Market \$139,261 Taxable \$34,815,154 Average Homestead Value A* and E* and M1 Parcels Total Homestead Value A* and E* and M1 Market Market \$212,298 255 Market \$54,136,010 Taxable \$137,455 Taxable \$35,051,064 Average Homestead Value M1 Parcels Total Homestead Value M1 Market \$85,516 5 Market \$427,580 Taxable \$47,182 53,910	Average Homes	stead Value A*	Parcels	Total Homestead Value A*
Average Homestead Value A* and E* Parcels Total Homestead Value A* and E* Market \$214,833 250 Market \$53,708,430 Taxable \$139,261 Taxable \$34,815,154 Average Homestead Value A* and E* and M1 Parcels Total Homestead Value A* and E* and M1 Market \$212,298 255 Market \$54,136,010 Taxable \$137,455 Taxable \$35,051,064 Average Homestead Value M1 Parcels Total Homestead Value M1 Market \$85,516 5 Market \$427,580	Market	\$206,161	225	Market \$46,386,380
Market \$214,833 250 Market \$53,708,430 Taxable \$139,261 Taxable \$34,815,154 Average Homestead Value A* and E* and M1 Parcels Total Homestead Value A* and E* and M1 Market \$212,298 255 Market \$54,136,010 Taxable \$137,455 Taxable \$35,051,064 Average Homestead Value M1 Parcels Market Value M1 Market \$85,516 5 Market \$427,580	Taxable	\$130,699		Taxable \$29,407,334
Taxable \$139,261 Taxable \$34,815,154 Average Homestead Value A* and E* and M1 Parcels Total Homestead Value A* and E* and M1 Market \$212,298 255 Market \$54,136,010 Taxable \$137,455 Taxable \$35,051,064 Average Homestead Value M1 Parcels Total Homestead Value M1 Market \$85,516 5 Market \$427,580	Average Homes	stead Value A* and E*	Parcels	Total Homestead Value A* and E*
Average Homestead Value A* and E* and M1 Parcels Total Homestead Value A* and E* and M1 Market \$212,298 255 Market \$54,136,010 Taxable \$137,455 Taxable \$35,051,064 Average Homestead Value M1 Parcels Total Homestead Value M1 Market \$85,516 5 Market \$427,580	Market	\$214,833	250	Market \$53,708,430
Market \$212,298 255 Market \$54,136,010 Taxable \$137,455 Taxable \$35,051,064 Average Homestead Value M1 Parcels Total Homestead Value M1 Market \$85,516 5 Market \$427,580	Taxable	\$139,261		Taxable \$34,815,154
Taxable \$137,455 Taxable \$35,051,064 Average Homestead Value M1 Parcels Total Homestead Value M1 Market \$85,516 5 Market \$427,580	Average Homes	stead Value A* and E* and M1	Parcels	Total Homestead Value A* and E* and M1
Average Homestead Value M1 Market \$85,516 Parcels Total Homestead Value M1 Market \$427,580	Market	\$212,298	255	Market \$54,136,010
Market \$85,516 5 Market \$427,580	Taxable	\$137,455		Taxable \$35,051,064
* ** ** * * * * * * * * * * * * * * *	Average Homes	stead Value M1	Parcels	Total Homestead Value M1
Taxable \$47,182 Taxable \$235,910	Market	\$85,516	5	Market \$427,580
	Taxable	\$47,182		Taxable \$235,910

7/23/2024 1:54:59PM Page 97 of 104



(CAN) - CITY OF ANSON

D - Disabled Only

U	Count of nomesteads											
	н	S	F	В	D	w	0	DV	DV100	SS First Resp	SS Svc Member	
	323	216	0	46	0	0	0	32	10	0	0	

S - Over 65 W - Widow F - Disabled Widow O - Over 65 (No HS) B - Disabled DV - Disabled Veteran

Total Parcels*: 2,065* Parcel count is figured by parcel per ownership DV100 (1, 2, 3) - 100% Disabled Veteran

H - Homestead

Total Owners: 1.351 Total Items: 3.238 4 (4B, 4H, 4S) - Surviving Spouse of a Service Member 5* (5B, 5H, 5S) - Surviving Spouse of a First Responder

Special Certified Totals

Exempt Value of First Time \$112,510 **Absolute Exemption**

Exempt Value of First Time \$656,480

Partial Exemption

New AG/Timber Industrial/Utility/Personal Property New Value Market \$0 Taxable \$0

Taxable \$0 Value Loss \$0

New Improvement/Personal

Grand Total New Value Market \$362.670 Taxable \$362,670 Taxable \$362.670

Average Values* (includes protested & exempt value)

Average Homestead Value A* Total Homestead Value A* **Parcels** Market \$116,372 555 \$64,586,780 Market \$89.395 **Taxable** Taxable \$49.614.230 Average Homestead Value A* and E* **Parcels** Total Homestead Value A* and E* Market \$118,567 573 Market \$67,939,150 Taxable **Taxable** \$91.074 \$52,185,430 Average Homestead Value A* and E* and M1 **Parcels** Total Homestead Value A* and E* and M1 \$117,728 Market 586 Market \$68,988,700 **Taxable** \$90.448 Taxable \$53.002.290 **Average Homestead Value M1 Parcels Total Homestead Value M1** \$80.734 13 Market Market \$1.049.550 **Taxable** \$62,835 **Taxable** \$816,860

7/23/2024 1:54:59PM Page 74 of 104



(CHM) - CITY OF HAMLIN M&O

Н s F В D W 0 DV **DV100** SS First Resp SS Svc Member 250 210 0 33 0 1 0 32 10 0 0

H - Homestead D - Disabled Only S - Over 65 W - Widow F - Disabled Widow O - Over 65 (No HS) B - Disabled DV - Disabled Veteran

Total Parcels*: 2,221* Parcel count is figured by parcel per ownership DV100 (1, 2, 3) - 100% Disabled Veteran 4 (4B, 4H, 4S) - Surviving Spouse of a Service Member 5* (5B, 5H, 5S) - Surviving Spouse of a First Responder

\$0

Total Owners: 1,299 3,393 Total Items:

Special Certified Totals

Count of Homesteads

Exempt Value of First Time \$237,220 **Absolute Exemption**

Exempt Value of First Time \$169,340

Partial Exemption

Industrial/Utility/Personal Property New Value **New AG/Timber** Market \$0 Taxable

\$0 Taxable \$0 Value Loss

New Improvement/Personal

Grand Total New Value Market \$127,220 Taxable \$127,220 Taxable \$127,220

Average Values* (includes protested & exempt value)

Average Homes	stead Value A*	Parcels	Total Homestead Value A*
Market	\$121,883	495	Market \$60,332,270
Taxable	\$79,383		Taxable \$39,294,520
Average Homes	stead Value A* and E*	Parcels	Total Homestead Value A* and E*
Market	\$122,332	497	Market \$60,799,150
Taxable	\$79,869		Taxable \$39,694,740
Average Homes	stead Value A* and E* and M1	Parcels	Total Homestead Value A* and E* and M1
Market	\$122,158	501	Market \$61,201,520
Taxable	\$79,918		Taxable \$40,038,950
Average Homes	stead Value M1	Parcels	Total Homestead Value M1
Market	\$100,592	4	Market \$402,370
Taxable	\$86.053		Taxable \$344.210

7/23/2024 1:54:59PM Page 78 of 104



Total Items:

947

(CHW) - CITY OF HAWLEY

unt of H	lomestead	ds									H - Homestead	D - Disabled Only
н	s	F	В	D	W	0	DV	DV100	SS First Resp	SS Svc Member	S - Over 65 F - Disabled Widow	W - Widow O - Over 65 (No HS
86	60	0	13	0	0	0	7	14	0	0	B - Disabled	DV - Disabled Veter
Total	Parcels*:	6	16* Parcel	count is f	figured by	parcel p	er owner	ship			DV100 (1, 2, 3) - 100% Di 4 (4B, 4H, 4S) - Surviving 5* (5B, 5H, 5S) - Surviving	Spouse of a Service Me
Total	Owners:	3	76									

Special Certified Totals			
Exempt Value of First Time Absolute Exemption	\$93,730		
Exempt Value of First Time Partial Exemption	\$73,050		
New AG/Timber		Industrial/Utility/Personal Property Ne	ew Value
Market	\$0	Taxable	\$0
Taxable	\$0		
Value Loss	\$0		
New Improvement/Personal		Grand Total New Value	
Market	\$1,007,870	Taxable	\$1,007,870
Taxable	\$1,007,870		

Average Homes	tead Value A*	Parcels	Total Homestead Value A*
Market	\$133,184	139	Market \$18,512,630
Taxable	\$104,356		Taxable \$14,505,510
Average Homes	tead Value A* and E*	Parcels	Total Homestead Value A* and E*
Market	\$137,166	154	Market \$21,123,610
Taxable	\$105,644		Taxable \$16,269,170
Average Homes	stead Value A* and E* and M1	Parcels	Total Homestead Value A* and E* and M1
Market	\$132,453	166	Market \$21,987,220
Taxable	\$100,631		Taxable \$16,704,780
Average Homes	tead Value M1	Parcels	Total Homestead Value M1
Market	\$71,967	12	Market \$863,610
Taxable	\$36.301		Taxable \$435,610

7/23/2024 1:54:59PM Page 84 of 104



Total Items:

677

(CLU) - CITY OF LUEDERS

												(010	o) - OII I OI LOLDLING
Co	ount of F	lomestead	ds									H - Homestead	D - Disabled Only
	н	S	F	В	D	w	0	DV	DV100	SS First Resp	SS Svc Member	S - Over 65 F - Disabled Widow	W - Widow O - Over 65 (No HS)
	39	28	0	6	0	0	0	2	2	0	0	B - Disabled	DV - Disabled Veteran
												DV100 (1, 2, 3) - 100% Dis	
	Total Parcels*: 435* Parcel count is figured by parcel per ownership						ship				Spouse of a Service Member Spouse of a First Responder		
	Total	Owners:	27	75								0 (0B, 011, 00) - 001 VIVIIII	opouse of a first Nesponder

Special Certified Totals			
Exempt Value of First Time Absolute Exemption	\$6,880		
Exempt Value of First Time Partial Exemption	\$113,980		
New AG/Timber		Industrial/Utility/Personal Property New	Value
Market	\$0	Taxable	\$0
Taxable	\$0		
Value Loss	\$0		
New Improvement/Personal		Grand Total New Value	
Market	\$0	Taxable	\$0
Taxable	\$0		

Average Homes	tead Value A*	Parcels	Total Homestead Value A*
Market	\$63,836	71	Market \$4,532,390
Taxable	\$39,801		Taxable \$2,825,870
Average Homes	tead Value A* and E*	Parcels	Total Homestead Value A* and E*
Market	\$65,706	73	Market \$4,796,570
Taxable	\$39,419		Taxable \$2,877,580
Average Homes	tead Value A* and E* and M1	Parcels	Total Homestead Value A* and E* and M1
Market	\$66,286	75	Market \$4,971,500
Taxable	\$40,623		Taxable \$3,046,740
Average Homes	tead Value M1	Parcels	Total Homestead Value M1
Market	\$87,465	2	Market \$174,930
Taxable	\$84.580		Taxable \$169.160

7/23/2024 1:54:59PM Page 88 of 104



(CST) - CITY OF STAMFORD M&O

Н s F В D W 0 DV **DV100** SS First Resp SS Svc Member 367 311 0 53 0 0 0 33 19 0

H - Homestead D - Disabled Only S - Over 65 W - Widow F - Disabled Widow O - Over 65 (No HS) DV - Disabled Veteran

B - Disabled DV100 (1, 2, 3) - 100% Disabled Veteran

4 (4B, 4H, 4S) - Surviving Spouse of a Service Member 5* (5B, 5H, 5S) - Surviving Spouse of a First Responder

Total Parcels*: 2,904* Parcel count is figured by parcel per ownership

Total Owners: 1,749 Total Items: 4,539

Special Certified Totals

Count of Homesteads

Exempt Value of First Time \$45,330 **Absolute Exemption**

Exempt Value of First Time \$539,220

Partial Exemption

Industrial/Utility/Personal Property New Value **New AG/Timber** \$0 Market Taxable

\$0 Taxable \$0 Value Loss

New Improvement/Personal

Market \$847,200 Taxable \$847,200 **Grand Total New Value**

Taxable \$847,200

\$0

Average Values* (includes protested & exempt value)

Average Homes	stead Value A*	Parcels	Total Homestead Value A*
Market	\$115,303	733	Market \$84,517,100
Taxable	\$82,243		Taxable \$60,284,440
Average Homes	stead Value A* and E*	Parcels	Total Homestead Value A* and E*
Market	\$115,471	736	Market \$84,986,880
Taxable	\$82,462		Taxable \$60,691,950
Average Homes	stead Value A* and E* and M1	Parcels	Total Homestead Value A* and E* and M1
Market	\$114,928	747	Market \$85,851,590
Taxable	\$82,030		Taxable \$61,276,280
Average Homes	stead Value M1	Parcels	Total Homestead Value M1
Market	\$78,610	11	Market \$864,710
Taxable	\$53,121		Taxable \$584,330

7/23/2024 1:54:59PM Page 91 of 104



Total Ceiling Tax (of ceilings applied): \$846,830.69

Total Freeze Taxable: (-) 226,714,374

New Imp/Pers with Ceiling: (+) 220,714,374

Freeze Adjusted Taxable: (=) 1,069,703,376This number DOES NOT represent any Jurisdiction's Certified Taxable Value**

Estimated Total Levy: ((Net Taxable Value - Total Freeze Taxable + New Imp/Pers with Ceiling) * Tax Rate / 100) + Total Ceiling Tax or (Freeze Adjusted Taxable * Tax Rate / 100) + Total Ceiling Tax

Count of Homesteads

Н F S В D W 0 DV **DV100** SS First Resp SS Svc Member 2.378 1.732 0 260 0 1 0 305 139 0

Total Parcels*: 23,059* Parcel count is figured by parcel per ownership

Total Owners: 12,853 **Total Items:** 32,672

H - Homestead D - Disabled Only
S - Over 65 W - Widow
F - Disabled Widow O - Over 65 (No HS)
B - Disabled DV - Disabled Veteran

DV100 (1, 2, 3) - 100% Disabled Veteran 4 (4B, 4H, 4S) - Surviving Spouse of a Service Member 5* (5B, 5H, 5S) - Surviving Spouse of a First Responder

Exempt Value of First Time
Absolute Exemption \$495,670

Exempt Value of First Time

Partial Exemption

New AG/Timber Industrial/Utility/Personal Property New Value

\$3,501,160

Market \$51,000 Taxable \$0
Taxable \$80

Value Loss \$50,920

New Improvement/Personal

Market \$10,656,890 Taxable \$10,463,770

Grand Total New Value

Taxable \$10,463,770

Average Values* (includes protested & exempt value)

Average Homes	stead Value A*	Parcels	Total Homestead Value A*
Market	\$125,526	2,233	Market \$280,300,330
Taxable Average Homes	\$91,762 stead Value A* and E*	Parcels	Taxable \$204,904,094 Total Homestead Value A* and E*
Market	\$155,795	3,589	Market \$559,148,760
Taxable Average Homes	\$121,079 stead Value A* and E* and M1	Parcels	Taxable \$434,553,904 Total Homestead Value A* and E* and M1
Market	\$151,837	3,879	Market \$588,977,020
Taxable Average Homes	\$117,799 stead Value M1	Parcels	Taxable \$456,940,594 Total Homestead Value M1
Market	\$102,856	290	Market \$29,828,260
Taxable	\$77,195		Taxable \$22,386,690

7/23/2024 1:54:59PM Page 8 of 104



(HAN) - ANSON HOSPITAL DIST

Н s F В D W 0 DV **DV100** SS First Resp SS Svc Member 393 276 0 53 0 0 0 44 20 0 0

H - Homestead D - Disabled Only S - Over 65 W - Widow F - Disabled Widow O - Over 65 (No HS) B - Disabled DV - Disabled Veteran

Total Parcels*: 3,154* Parcel count is figured by parcel per ownership DV100 (1, 2, 3) - 100% Disabled Veteran 4 (4B, 4H, 4S) - Surviving Spouse of a Service Member 5* (5B, 5H, 5S) - Surviving Spouse of a First Responder

Total Owners: 1,888 Total Items: 4,749

Special Certified Totals

Count of Homesteads

Exempt Value of First Time \$112,510 **Absolute Exemption**

Exempt Value of First Time \$986,670

Partial Exemption

Industrial/Utility/Personal Property New Value **New AG/Timber**

\$0 \$0 Market Taxable \$0 Taxable

Grand Total New Value

\$0 Value Loss

New Improvement/Personal

Market \$683,050 Taxable \$674,820 Taxable \$674.820

Average Values* (includes protested & exempt value)

Average Homes	stead Value A*	Parcels	Total Homestead Value A*
Market	\$116,372	555	Market \$64,586,780
Taxable Average Homes	\$89,395 stead Value A* and E*	Parcels	Taxable \$49,614,230 Total Homestead Value A* and E*
Market	\$128,466	664	Market \$85,301,750
Taxable Average Homes	\$97,595 stead Value A* and E* and M1	Parcels	Taxable \$64,803,000 Total Homestead Value A* and E* and M1
Market	\$127,409	687	Market \$87,530,380
Taxable Average Homes	\$96,418 stead Value M1	Parcels	Taxable \$66,239,010 Total Homestead Value M1
Market	\$96,896	23	Market \$2,228,630
Taxable	\$62 435		Taxable \$1 436 010

7/23/2024 1:54:59PM Page 22 of 104



(HHM) - HAMLIN HOSPITAL DIST M&O

Н S F В D W 0 DV **DV100** SS First Resp SS Svc Member 414 331 0 43 0 1 0 58 16 0 0

 H - Homestead
 D - Disabled Only

 S - Over 65
 W - Widow

 F - Disabled Widow
 O - Over 65 (No HS)

 B - Disabled
 DV - Disabled Veteran

DV100 (1, 2, 3) - 100% Disabled Veteran

4 (4B, 4H, 4S) - Surviving Spouse of a Service Member 5* (5B, 5H, 5S) - Surviving Spouse of a First Responder

Total Parcels*: 6,841* Parcel count is figured by parcel per ownership

Total Owners: 3,997
Total Items: 8,787

Special Certified Totals

Count of Homesteads

Exempt Value of First Time
Absolute Exemption \$237,220

Exempt Value of First Time \$169.340

Partial Exemption \$169,340

New AG/Timber Industrial/Utility/Personal Property New Value

Market \$0 Taxable \$0
Taxable

Value Loss \$0

New Improvement/Personal Grand Total New Value

Market \$741,630 Taxable \$741,630

Taxable \$741,630

Average Values* (includes protested & exempt value)

Average Homes	stead Value A*	Parcels	Total Homestead Value A*
Market	\$122,145	498	Market \$60,828,580
Taxable	\$79,386		Taxable \$39,534,210
Average Homes	stead Value A* and E*	Parcels	Total Homestead Value A* and E*
Market	\$143,140	674	Market \$96,476,360
Taxable	\$102,545		Taxable \$69,115,480
Average Homes	stead Value A* and E* and M1	Parcels	Total Homestead Value A* and E* and M1
Market	\$140,699	710	Market \$99,896,550
Taxable	\$100,754		Taxable \$71,535,660
Average Homes	stead Value M1	Parcels	Total Homestead Value M1
Market	\$95,005	36	Market \$3,420,190
Taxable	\$67.227		Taxable \$2.420.180

7/23/2024 1:54:59PM Page 12 of 104

2024 Certified History Recap Jones Co. Appraisal District

(HST) - STAMFORD HOSPITAL DIST M&O

н	s	F	В	D	W	0	DV	DV100	SS First Resp	SS Svc Member
854	687	0	98	0	0	0	105	51	0	1

8,524* Parcel count is figured by parcel per ownership

H - Homestead D - Disabled Only S - Over 65 W - Widow F - Disabled Widow O - Over 65 (No HS) B - Disabled DV - Disabled Veteran

0 98 0 0 105 51 0 1

DV100 (1, 2, 3) - 100% Disabled Veteran 4 (4B, 4H, 4S) - Surviving Spouse of a Service Member 5* (5B, 5H, 5S) - Surviving Spouse of a First Responder

Total Owners: 4,750 Total Items: 12,283

Special Certified Totals

Count of Homesteads

Total Parcels*:

Exempt Value of First Time \$52,210 **Absolute Exemption**

Exempt Value of First Time

\$1,481,730 **Partial Exemption**

Industrial/Utility/Personal Property New Value **New AG/Timber**

Market \$0 \$51,000 Taxable Taxable \$80

Grand Total New Value

\$50,920 Value Loss

New Improvement/Personal

Market \$4,802,450 Taxable \$4,617,560 Taxable \$4,617,560

Average Values* (includes protested & exempt value)

•			
Average Homes	stead Value A*	Parcels	Total Homestead Value A*
Market	\$131,119	1,036	Market \$135,839,990
Taxable	\$96,782		Taxable \$100,265,854
Average Homes	stead Value A* and E*	Parcels	Total Homestead Value A* and E*
Market	\$148,338	1,422	Market \$210,937,770
Taxable	\$112,814		Taxable \$160,420,844
Average Homes	stead Value A* and E* and M1	Parcels	Total Homestead Value A* and E* and M1
Market	\$145,170	1,510	Market \$219,207,790
Taxable	\$110,680		Taxable \$167,126,114
Average Homes	stead Value M1	Parcels	Total Homestead Value M1
Market	\$93,977	88	Market \$8,270,020
Taxable	\$76,196		Taxable \$6,705,270

7/23/2024 1:54:59PM Page 16 of 104



\$29,449,40 Total Ceiling Tax (of ceilings applied): **Total Freeze Taxable: (-)** 9,639,830

New Imp/Pers with Ceiling: (+) 4.630

Freeze Adjusted Taxable: (=) 78,998,450This number DOES NOT represent any Jurisdiction's Certified Taxable Value**

Estimated Total Levy: ((Net Taxable Value - Total Freeze Taxable + New Imp/Pers with Ceiling) * Tax Rate / 100) + Total Ceiling Tax or (Freeze Adjusted Taxable * Tax Rate / 100) + Total Ceiling Tax

Count of Homesteads	•
---------------------	---

Н S F В D W 0 DV **DV100** SS First Resp SS Svc Member 0 16 0 0 0 29 0 142 141 12 0

Total Parcels*: 1.137* Parcel count is figured by parcel per ownership

Total Owners: 695 Total Items: 1,685

H - Homestead D - Disabled Only S - Over 65 W - Widow F - Disabled Widow O - Over 65 (No HS) DV - Disabled Veteran B - Disabled

DV100 (1, 2, 3) - 100% Disabled Veteran

4 (4B, 4H, 4S) - Surviving Spouse of a Service Member 5* (5B, 5H, 5S) - Surviving Spouse of a First Responder

Special Certified Totals

Exempt Value of First Time \$0 **Absolute Exemption**

Exempt Value of First Time

\$155,280 **Partial Exemption**

New AG/Timber Industrial/Utility/Personal Property New Value

Market \$0 \$0 Taxable Value Loss \$0

New Improvement/Personal

Market \$741,160 Taxable \$725,610

Taxable

\$0

Grand Total New Value

Taxable \$725,610

Average Values* (includes protested & exempt value)

Average Homes	tead Value A*	Parcels	Total Homestead Value A*
Market	\$209,681	211	Market \$44,242,830
Taxable	\$66,515		Taxable \$14,034,640
Average Homes	tead Value A* and E*	Parcels	Total Homestead Value A* and E*
Market	\$198,950	270	Market \$53,716,600
Taxable	\$64,023		Taxable \$17,286,160
Average Homes	tead Value A* and E* and M1	Parcels	Total Homestead Value A* and E* and M1
Market	\$193,282	286	Market \$55,278,900
Taxable	\$61,287		Taxable \$17,528,100
Average Homes	tead Value M1	Parcels	Total Homestead Value M1
Market	\$97,643	16	Market \$1,562,300
Taxable	\$15,121		Taxable \$241,940

7/23/2024 1:54:59PM Page 26 of 104



Total Ceiling Tax (of ceilings applied): \$34,314.30

Total Freeze Taxable: (-) 12,903,850

New Imp/Pers with Ceiling: (+) 10,270

Freeze Adjusted Taxable: (=) 208,218,694This number DOES NOT represent any Jurisdiction's Certified Taxable Value**

I&S Freeze Adjusted Taxable: (=) 305,610,614This number DOES NOT represent any Jurisdiction's Certified Taxable Value**

Estimated Total Levy: ((Net Taxable Value - Total Freeze Taxable + New Imp/Pers with Ceiling) * Tax Rate / 100) + Total Ceiling Tax or (Freeze Adjusted Taxable * Tax Rate / 100) + Total Ceiling Tax

	Count	of I	Hom	este	ads
--	-------	------	-----	------	-----

Н S F В D W 0 DV **DV100** SS First Resp SS Svc Member 559 63 0 0 0 0 385 0 74 35 0

Total Parcels*: 5,365* Parcel count is figured by parcel per ownership

Total Owners: 3,273
Total Items: 7,655

H - Homestead D - Disabled Only
S - Over 65 W - Widow
F - Disabled Widow O - Over 65 (No HS)
B - Disabled DV - Disabled Veteran

DV100 (1, 2, 3) - 100% Disabled Veteran

\$0

4 (4B, 4H, 4S) - Surviving Spouse of a Service Member 5* (5B, 5H, 5S) - Surviving Spouse of a First Responder

Special Certified Totals

Exempt Value of First Time
Absolute Exemption \$37,040

Exempt Value of First Time

Partial Exemption

New AG/Timber Industrial/Utility/Personal Property New Value

Market \$0 Taxable
Taxable \$0

\$811,300

Value Loss \$0

New Improvement/Personal Grand Total New Value

Market \$1,875,720 Taxable \$1,463,180

Average Values* (includes protested & exempt value)

Average Homes	stead Value A*	Parcels	Total Homestead Value A*
Market	\$116,372	555	Market \$64,586,780
Taxable Average Homes	\$15,101 stead Value A* and E*	Parcels	Taxable \$8,380,990 Total Homestead Value A* and E*
Market	\$139,048	800	Market \$111,238,610
Taxable Average Homes	\$28,589 stead Value A* and E* and M1	Parcels	Taxable \$22,871,120 Total Homestead Value A* and E* and M1
Market	\$137,270	872	Market \$119,699,860
Taxable Average Homes	\$28,415 stead Value M1	Parcels	Taxable \$24,777,890 Total Homestead Value M1
Market	\$117,517	72	Market \$8,461,250
Taxable	\$26,483		Taxable \$1,906,770

7/23/2024 1:54:59PM Page 30 of 104



Total Ceiling Tax (of ceilings applied): \$8,649.91

Total Freeze Taxable: (-) 2,433,610

New Imp/Pers with Ceiling: (+)

Freeze Adjusted Taxable: (=) 28,032,296This number DOES NOT represent any Jurisdiction's Certified Taxable Value**

Estimated Total Levy: ((Net Taxable Value - Total Freeze Taxable + New Imp/Pers with Ceiling) * Tax Rate / 100) + Total Ceiling Tax or (Freeze Adjusted Taxable * Tax Rate / 100) + Total Ceiling Tax

|--|

Н S F В D W 0 DV **DV100** SS First Resp SS Svc Member 71 45 0 3 0 0 0 6 0 6 0

Total Parcels*: 512* Parcel count is figured by parcel per ownership

Total Owners: 293
Total Items: 734

H - Homestead D - Disabled Only
S - Over 65 W - Widow
F - Disabled Widow O - Over 65 (No HS)
B - Disabled DV - Disabled Veteran

DV100 (1, 2, 3) - 100% Disabled Veteran

4 (4B, 4H, 4S) - Surviving Spouse of a Service Member 5* (5B, 5H, 5S) - Surviving Spouse of a First Responder

Special Certified Totals

Exempt Value of First Time
Absolute Exemption \$0

Exempt Value of First Time

Partial Exemption

New AG/Timber Industrial/Utility/Personal Property New Value

\$10,000

Market \$0 Taxable \$0
Taxable

Value Loss \$0

New Improvement/Personal

Market \$97,240 Taxable \$89,550 **Grand Total New Value**

Taxable \$89,550

Average Values* (includes protested & exempt value)

Market \$178,876 11 Market \$1,967,640 Taxable \$51,440 Taxable \$565,840 Average Homestead Value A* and E* Parcels Total Homestead Value A* and E* Market \$221,614 103 Market \$22,826,260 Taxable \$86,687 Taxable \$8,928,740 Average Homestead Value A* and E* and M1 Parcels Total Homestead Value A* and E* and M1 Market \$212,841 111 Market \$23,625,420 Taxable \$81,000 Taxable \$8,991,040 Average Homestead Value M1 Parcels Total Homestead Value M1 Market \$99,895 8 Market \$799,160 Taxable \$7,788 Taxable \$62,300	Average Homes	stead Value A*	Parcels	Total Homestead Value A*
Average Homestead Value A* and E* Parcels Total Homestead Value A* and E* Market \$221,614 103 Market \$22,826,260 Taxable \$86,687 Taxable \$8,928,740 Average Homestead Value A* and E* and M1 Parcels Total Homestead Value A* and E* and M1 Market \$212,841 111 Market \$23,625,420 Taxable \$81,000 Taxable \$8,991,040 Average Homestead Value M1 Parcels Total Homestead Value M1 Market \$99,895 8 Market \$799,160	Market	\$178,876	11	Market \$1,967,640
Market \$221,614 103 Market \$22,826,260 Taxable \$86,687 Taxable \$8,928,740 Average Homestead Value A* and E* and M1 Parcels Total Homestead Value A* and E* and M1 Market \$212,841 111 Market \$23,625,420 Taxable \$81,000 Taxable \$8,991,040 Average Homestead Value M1 Parcels Total Homestead Value M1 Market \$99,895 8 Market \$799,160	Taxable	\$51,440		Taxable \$565,840
Taxable \$86,687 Taxable \$8,928,740 Average Homestead Value A* and E* and M1 Parcels Total Homestead Value A* and E* and M1 Market \$212,841 111 Market \$23,625,420 Taxable \$81,000 Taxable \$8,991,040 Average Homestead Value M1 Parcels Total Homestead Value M1 Market \$99,895 8 Market \$799,160	Average Homes	stead Value A* and E*	Parcels	Total Homestead Value A* and E*
Average Homestead Value A* and E* and M1 Parcels Total Homestead Value A* and E* and M1 Market \$212,841 111 Market \$23,625,420 Taxable \$81,000 Taxable \$8,991,040 Average Homestead Value M1 Parcels Total Homestead Value M1 Market \$99,895 8 Market \$799,160	Market	\$221,614	103	Market \$22,826,260
Market \$212,841 111 Market \$23,625,420 Taxable \$81,000 Taxable \$8,991,040 Average Homestead Value M1 Parcels Total Homestead Value M1 Market \$99,895 8 Market \$799,160	Taxable	\$86,687		Taxable \$8,928,740
Taxable \$81,000 Average Homestead Value M1 Parcels Total Homestead Value M1 Market \$99,895 8 Market \$799,160	Average Homes	stead Value A* and E* and M1	Parcels	Total Homestead Value A* and E* and M1
Average Homestead Value M1 Parcels Total Homestead Value M1 Market \$99,895 8 Market \$799,160	Market	\$212,841	111	Market \$23,625,420
Market \$99,895 8 Market \$799,160	Taxable	\$81,000		Taxable \$8,991,040
, , , , , , , , , , , , , , , , , , , ,	Average Homes	stead Value M1	Parcels	Total Homestead Value M1
Taxable \$7,788 Taxable \$62,300	Market	\$99,895	8	Market \$799,160
	Taxable	\$7,788		Taxable \$62,300

7/23/2024 1:54:59PM Page 34 of 104



Total Ceiling Tax (of ceilings applied): \$10,837.24

Total Freeze Taxable: (-) 4,050,700

New Imp/Pers with Ceiling: (+)

Freeze Adjusted Taxable: (=) 97,014,454This number DOES NOT represent any Jurisdiction's Certified Taxable Value**

Estimated Total Levy: ((Net Taxable Value - Total Freeze Taxable + New Imp/Pers with Ceiling) * Tax Rate / 100) + Total Ceiling Tax or (Freeze Adjusted Taxable * Tax Rate / 100) + Total Ceiling Tax

Count of Homesteads

Н S F В D 0 DV **DV100** SS First Resp SS Svc Member 297 245 0 36 0 1 0 0 33 10 0

Total Parcels*: 3.467* Parcel count is figured by parcel per ownership

Total Owners: 1,964
Total Items: 4,914

H - Homestead D - Disabled Only
S - Over 65 W - Widow
F - Disabled Widow O - Over 65 (No HS)
B - Disabled DV - Disabled Veteran

DV100 (1, 2, 3) - 100% Disabled Veteran

4 (4B, 4H, 4S) - Surviving Spouse of a Service Member 5* (5B, 5H, 5S) - Surviving Spouse of a First Responder

Special Certified Totals

Exempt Value of First Time
Absolute Exemption \$237,220

Exempt Value of First Time

Partial Exemption \$152,660

New AG/Timber Industrial/Utility/Personal Property New Value

Market \$0 Taxable \$0
Taxable \$0

Value Loss \$0

New Improvement/Personal Grand Total New Value

 Market
 \$201,430
 Taxable
 \$189,320

 Taxable
 \$189,320

Average Values* (includes protested & exempt value)

Average Homesto	ead Value A*	Parcels	Total Homestead Value A*
Market	\$122,145	498	Market \$60,828,580
Taxable Average Homesto	\$12,232 ead Value A* and E*	Parcels	Taxable \$6,091,660 Total Homestead Value A* and E*
Market	\$127,918	544	Market \$69,587,850
Taxable Average Homesto	\$15,406 ead Value A* and E* and M1	Parcels	Taxable \$8,380,870 Total Homestead Value A* and E* and M1
Market	\$127,101	557	Market \$70,795,450
Taxable Average Homesto	\$15,240 ead Value M1	Parcels	Taxable \$8,488,440 Total Homestead Value M1
Market	\$92,892	13	Market \$1,207,600
Taxable	\$8,275		Taxable \$107,570

7/23/2024 1:54:59PM Page 37 of 104



Total Ceiling Tax (of ceilings applied): \$78,997.55

Total Freeze Taxable: (-) 28,169,260
New Imp/Pers with Ceiling: (+) 10,290

Freeze Adjusted Taxable: (=) 228,095,280This number DOES NOT represent any Jurisdiction's Certified Taxable Value**

Estimated Total Levy: ((Net Taxable Value - Total Freeze Taxable + New Imp/Pers with Ceiling) * Tax Rate / 100) + Total Ceiling Tax or (Freeze Adjusted Taxable * Tax Rate / 100) + Total Ceiling Tax

Count of Homesteads

Н S F В D W 0 DV **DV100** SS First Resp SS Svc Member 635 387 0 60 0 0 0 0 83 43 0

Total Parcels*: 3.597* Parcel count is figured by parcel per ownership

Total Owners: 2,325
Total Items: 5,544

H - Homestead D - Disabled Only
S - Over 65 W - Widow
F - Disabled Widow O - Over 65 (No HS)
B - Disabled DV - Disabled Veteran

DV100 (1, 2, 3) - 100% Disabled Veteran

4 (4B, 4H, 4S) - Surviving Spouse of a Service Member 5* (5B, 5H, 5S) - Surviving Spouse of a First Responder

Special Certified Totals

Exempt Value of First Time
Absolute Exemption \$0

Exempt Value of First Time

Partial Exemption \$953,990

New AG/Timber Industrial/Utility/Personal Property New Value

Market \$51,000 Taxable \$0
Taxable \$80

Value Loss \$50,920

New Improvement/Personal Grand Total New Value

Average Values* (includes protested & exempt value)

Average Homestead Value A*		Parcels	Total Homestead Value A*
Market	\$130,754	147	Market \$19,220,890
Taxable \$28,885 Average Homestead Value A* and E*		Parcels	Taxable \$4,246,040 Total Homestead Value A* and E*
Market	\$198,935	759	Market \$150,991,940
Taxable \$82,520 Average Homestead Value A* and E* and M1		Parcels	Taxable \$62,632,930 Total Homestead Value A* and E* and M1
Market	\$184,798	889	Market \$164,285,790
Taxable Average Home	\$72,322 stead Value M1	Parcels	Taxable \$64,294,240 Total Homestead Value M1
Market	\$102,260	130	Market \$13,293,850
Taxable	\$12,779		Taxable \$1,661,310

7/23/2024 1:54:59PM Page 47 of 104



Total Ceiling Tax (of ceilings applied): \$4,312.51 **Total Freeze Taxable: (-)** 1,512,360 New Imp/Pers with Ceiling: (+) 19.350

> **Freeze Adjusted Taxable: (=) 68,015,156**This number DOES NOT represent any Jurisdiction's Certified Taxable Value**

Estimated Total Levy: ((Net Taxable Value - Total Freeze Taxable + New Imp/Pers with Ceiling) * Tax Rate / 100) + Total Ceiling Tax or (Freeze Adjusted Taxable * Tax Rate / 100) + Total Ceiling Tax

Count of Homesteads	Count	of Ho	mesteads
---------------------	-------	-------	----------

Н S F В D W 0 DV **DV100** SS First Resp SS Svc Member 108 0 11 0 0 0 0 82 11 5 0

Total Parcels*: 2.196* Parcel count is figured by parcel per ownership

Total Owners: 1,212 Total Items: 2,882

H - Homestead D - Disabled Only S - Over 65 W - Widow F - Disabled Widow O - Over 65 (No HS) DV - Disabled Veteran B - Disabled

DV100 (1, 2, 3) - 100% Disabled Veteran

4 (4B, 4H, 4S) - Surviving Spouse of a Service Member 5* (5B, 5H, 5S) - Surviving Spouse of a First Responder

Special Certified Totals

Exempt Value of First Time \$6.880 **Absolute Exemption**

Exempt Value of First Time

\$138,410 **Partial Exemption**

New AG/Timber Industrial/Utility/Personal Property New Value

Market \$0 Taxable \$0 \$0 Taxable

Value Loss \$0

New Improvement/Personal

Grand Total New Value Market \$1,848,080 Taxable \$1,752,080 Taxable \$1,752,080

Average Values* (includes protested & exempt value)

Average Homestead Value A*		Parcels Iotal Homestead Value A*	
Market	\$63,288	78	Market \$4,936,510
Taxable	\$21		Taxable \$1,630
Average Homestead Value A* and E*		Parcels	Total Homestead Value A* and E*
Market	\$109,604	139	Market \$15,235,000
Taxable	\$15,219		Taxable \$2,115,490
Average Homestead Value A* and E* and M1		Parcels	Total Homestead Value A* and E* and M1
Market	\$107,881	155	Market \$16,721,570
Taxable	\$15,848		Taxable \$2,456,390
Average Homestead Value M1		Parcels	Total Homestead Value M1
Market	\$92,910	16	Market \$1,486,570
Taxable	\$21,306		Taxable \$340,900

7/23/2024 1:54:59PM Page 51 of 104

Tatal Illamasatasad Valus At



Total Ceiling Tax (of ceilings applied): \$25,844.94

Total Freeze Taxable: (-) 8,542,620

New Imp/Pers with Ceiling: (+) 5,970

Freeze Adjusted Taxable: (=) 52,700,962This number DOES NOT represent any Jurisdiction's Certified Taxable Value**

Estimated Total Levy: ((Net Taxable Value - Total Freeze Taxable + New Imp/Pers with Ceiling) * Tax Rate / 100) + Total Ceiling Tax or (Freeze Adjusted Taxable * Tax Rate / 100) + Total Ceiling Tax

Count	of	Hom	est	eads	3

Н S F В D W 0 DV **DV100** SS First Resp SS Svc Member 132 0 10 0 0 0 28 0 84 7 0

Total Parcels*: 1,719* Parcel count is figured by parcel per ownership

Total Owners: 1,134
Total Items: 2,160

H - Homestead D - Disabled Only
S - Over 65 W - Widow
F - Disabled Widow O - Over 65 (No HS)
B - Disabled DV - Disabled Veteran
DV100 (1, 2, 3) - 100% Disabled Veteran

4 (4B, 4H, 4S) - Surviving Spouse of a Service Member 5* (5B, 5H, 5S) - Surviving Spouse of a First Responder

Special Certified Totals

Exempt Value of First Time
Absolute Exemption \$0

Exempt Value of First Time

Partial Exemption

New AG/Timber Industrial/Utility/Personal Property New Value

\$30,000

Market \$0 Taxable

Taxable \$0

Value Loss \$0

New Improvement/Personal

Market \$172,510 Taxable \$172,510 Grand Total New Value

Taxable \$172,510

\$0

Average Values* (includes protested & exempt value)

Average Homestead Value A* and E*		Parcels	Total Homestead Value A* and E*
Market	\$217,309	160	Market \$34,769,550
Taxable	\$98,281		Taxable \$15,724,940
Average Homestead Value A* and E* and M1		Parcels	Total Homestead Value A* and E* and M1
Market	\$203,932	179	Market \$36,503,890
Taxable	\$88,121		Taxable \$15,773,660
Average Homestead Value M1		Parcels	Total Homestead Value M1
Market	\$91,281	19	Market \$1,734,340
Taxable	\$2,564		Taxable \$48,720

7/23/2024 1:54:59PM Page 55 of 104



Total Ceiling Tax (of ceilings applied): \$2,309.46

Total Freeze Taxable: (-) 287,170

New Imp/Pers with Ceiling: (+) 0

Freeze Adjusted Taxable: (=) 4,324,400This number DOES NOT represent any Jurisdiction's Certified Taxable Value**

Estimated Total Levy: ((Net Taxable Value - Total Freeze Taxable + New Imp/Pers with Ceiling) * Tax Rate / 100) + Total Ceiling Tax or (Freeze Adjusted Taxable * Tax Rate / 100) + Total Ceiling Tax

Count	of	Hom	est	eads	3

Н S F В D W 0 DV **DV100** SS First Resp SS Svc Member 0 1 0 0 0 0 0 0 1 0

Total Parcels*: 38* Parcel count is figured by parcel per ownership

Total Owners: 23
Total Items: 55

H - Homestead D - Disabled Only
S - Over 65 W - Widow
F - Disabled Widow O - Over 65 (No HS)
B - Disabled DV - Disabled Veteran

DV100 (1, 2, 3) - 100% Disabled Veteran

4 (4B, 4H, 4S) - Surviving Spouse of a Service Member 5* (5B, 5H, 5S) - Surviving Spouse of a First Responder

Special Certified Totals

Exempt Value of First Time
Absolute Exemption \$0

Exempt Value of First Time

Partial Exemption

New AG/Timber Industrial/Utility/Personal Property New Value

\$0

Market \$0 Taxable \$0
Taxable

Value Loss \$0

New Improvement/Personal Grand Total New Value

 Market
 \$41,900
 Taxable
 \$41,900

 Taxable
 \$41,900

Average Values* (includes protested & exempt value)

Average Homestead Value A* and E* Parcels Total Homestead Value A* and E*

 Market
 \$126,660
 1
 Market
 \$126,660

 Taxable
 \$26,660
 Taxable
 \$26,660

Average Homestead Value A* and E* and M1 Parcels Total Homestead Value A* and E* and M1

 Market
 \$126,660
 1
 Market
 \$126,660

 Taxable
 \$26,660
 Taxable
 \$26,660

7/23/2024 1:54:59PM Page 58 of 104



Total Ceiling Tax (of ceilings applied): \$0.00

Total Freeze Taxable: (-) 145,790
New Imp/Pers with Ceiling: (+) 0

Freeze Adjusted Taxable: (=) 2,169,540This number DOES NOT represent any Jurisdiction's Certified Taxable Value**

Estimated Total Levy: ((Net Taxable Value - Total Freeze Taxable + New Imp/Pers with Ceiling) * Tax Rate / 100) + Total Ceiling Tax or (Freeze Adjusted Taxable * Tax Rate / 100) + Total Ceiling Tax

Count of	Homes	teads
----------	-------	-------

Н S F В D W 0 DV **DV100** SS First Resp SS Svc Member 2 0 0 0 0 0 0 0 0 0

Total Parcels*: 99* Parcel count is figured by parcel per ownership

Total Owners: 67
Total Items: 121

H - Homestead D - Disabled Only
S - Over 65 W - Widow
F - Disabled Widow O - Over 65 (No HS)
B - Disabled DV - Disabled Veteran

DV100 (1, 2, 3) - 100% Disabled Veteran

4 (4B, 4H, 4S) - Surviving Spouse of a Service Member 5* (5B, 5H, 5S) - Surviving Spouse of a First Responder

Special Certified Totals

Exempt Value of First Time
Absolute Exemption \$0

Exempt Value of First Time

Partial Exemption

New AG/Timber Industrial/Utility/Personal Property New Value

\$0

Market \$0 Taxable \$0
Taxable

Value Loss \$0

New Improvement/Personal Grand Total New Value

Market \$193,840 Taxable \$193,840

Average Values* (includes protested & exempt value)

Average Homestead Value A* and E* and M1 Total Homestead Value A* and E* and M1 **Parcels** Market \$113,370 Market \$113,370 Taxable \$0 **Taxable** \$0 **Average Homestead Value M1 Total Homestead Value M1 Parcels** Market \$113.370 Market \$113.370 **Taxable** \$0 Taxable \$0

7/23/2024 1:54:59PM Page 61 of 104



Total Ceiling Tax (of ceilings applied): \$14,495.51

Total Freeze Taxable: (-) 8,138,190

New Imp/Pers with Ceiling: (+)

Freeze Adjusted Taxable: (=) 106,675,160This number DOES NOT represent any Jurisdiction's Certified Taxable Value**

Estimated Total Levy: ((Net Taxable Value - Total Freeze Taxable + New Imp/Pers with Ceiling) * Tax Rate / 100) + Total Ceiling Tax or (Freeze Adjusted Taxable * Tax Rate / 100) + Total Ceiling Tax

Н S F В D W 0 DV **DV100** SS First Resp SS Svc Member 422 0 60 0 0 0 39 0 351 20 0

Total Parcels*: 3.849* Parcel count is figured by parcel per ownership

Total Owners: 2,221
Total Items: 5,789

H - Homestead D - Disabled Only
S - Over 65 W - Widow
F - Disabled Widow O - Over 65 (No HS)
B - Disabled DV - Disabled Veteran

DV100 (1, 2, 3) - 100% Disabled Veteran

4 (4B, 4H, 4S) - Surviving Spouse of a Service Member 5* (5B, 5H, 5S) - Surviving Spouse of a First Responder

Special Certified Totals

Exempt Value of First Time
Absolute Exemption \$45,330

Exempt Value of First Time

Partial Exemption

New AG/Timber Industrial/Utility/Personal Property New Value

\$0

\$405,070

Market \$0 Taxable \$0
Taxable \$0

Value Loss

New Improvement/Personal Grand Total New Value

Market \$847,200 Taxable \$647,450

Average Values* (includes protested & exempt value)

Average Homestead Value A*		Parcels	Total Homestead Value A*
Market	\$115,303	733	Market \$84,517,100
Taxable	\$15,146		Taxable \$11,101,660
Average Homestead Value A* and E*		Parcels	Total Homestead Value A* and E*
Market	\$122,658	802	Market \$98,372,400
Taxable	\$20,455		Taxable \$16,404,730
Average Homestead Value A* and E* and M1		Parcels	Total Homestead Value A* and E* and M1
Market	\$121,916	816	Market \$99,483,970
Taxable	\$20,219		Taxable \$16,499,070
Average Homestead Value M1		Parcels	Total Homestead Value M1
Market	\$79,397	14	Market \$1,111,570
Taxable	\$6,739		Taxable \$94,340

7/23/2024 1:54:59PM Page 67 of 104



Total Ceiling Tax (of ceilings applied): \$2,399.48

Total Freeze Taxable: (-) 432,320

New Imp/Pers with Ceiling: (+)

Freeze Adjusted Taxable: (=) 11,660,876This number DOES NOT represent any Jurisdiction's Certified Taxable Value**

Estimated Total Levy: ((Net Taxable Value - Total Freeze Taxable + New Imp/Pers with Ceiling) * Tax Rate / 100) + Total Ceiling Tax or (Freeze Adjusted Taxable * Tax Rate / 100) + Total Ceiling Tax

Count of Homesteads

Н F В S D W 0 DV **DV100** SS First Resp SS Svc Member 7 9 0 0 0 0 0 2 0 1 0

Total Parcels*: 1,203* Parcel count is figured by parcel per ownership

Total Owners: 775
Total Items: 1,256

H - Homestead D - Disabled Only
S - Over 65 W - Widow
F - Disabled Widow O - Over 65 (No HS)
B - Disabled DV - Disabled Veteran

DV100 (1, 2, 3) - 100% Disabled Veteran 4 (4B, 4H, 4S) - Surviving Spouse of a Service Member

4 (4B, 4H, 4S) - Surviving Spouse of a Service Member 5* (5B, 5H, 5S) - Surviving Spouse of a First Responder

Special Certified Totals

Exempt Value of First Time
Absolute Exemption \$0

Exempt Value of First Time

Partial Exemption

Taxable

New AG/Timber Industrial/Utility/Personal Property New Value

\$0

Market \$0 Taxable \$0
Taxable

Value Loss \$0

New Improvement/Personal Grand Total New Value

 Market
 \$92,420
 Taxable
 \$92,420

 Taxable
 \$92,420

Average Values* (includes protested & exempt value)

\$0

 Average Homestead Value A* and E*
 Parcels
 Total Homestead Value A* and E*

 Market
 \$207,626
 11
 Market
 \$2,283,890

 Taxable
 \$96,598
 Taxable
 \$1,062,580

Average Homestead Value A* and E* and M1 Parcels Total Homestead Value A* and E* and M1

Market \$195.178 12 Market \$2.342.140 **Taxable** \$88,548 Taxable \$1,062,580 Average Homestead Value M1 **Parcels Total Homestead Value M1** Market \$58.250 Market \$58.250

7/23/2024 1:54:59PM Page 64 of 104

Taxable

\$0